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A S 7HHPHEIS 2 M 900 mg/day2 5t7| fIo THAA HYS F0{9 A4S 320 24 L3t 20

- 2R/ 0 0] 9F 300 mg YWa=S 1€ 18 &2 0] 9f 100 mg 1¢==S 1€ 38 £ (7IBFHEl 300 mg

/day)

-SAE 0] 300 mg Wes 1€ 28 &2 0] & 100 mg 2¥ &S 1¥ 32| FO{(7tBIHIEl 600 mg

/day)

- MRYEE 0] 9f 300 mg =S 1¢ 38 £ &2 0] f 100 mg 3¥=S 1¥ 35 FO{(VIHHHE

900 mg/day)

Z2 20| g 2|0f A2 2 0] 2300 mg 1H&S 1€ 338 &0 & &5 QCHIZHHIHEIEI 900 mg
/day). 7IHHHIEIS 2 M 1,200 mg/day7tX| S 4+ 2, 1Y & S22 7HHIHEICZ A 2,400 mg

2118t 4 QICt (PHHIHIEIS 2 M 2,400 mg/day 21220} 2Had5t0] QHMA U LE M| ChEH 2t &
)

222 JHHIHEIS 2 M A|F kg & 30 mg/day2 57| Qo HA|d HH 2 £0{Q] 28 3Y0|| 24 .t
ZOo| A

- 2L JHIEIEIS 2 M 10 mg/AH|=(kg) E0
- SRjY : JHHIEIEIO 2 A 20 mg/H|= (kg) E0
- MBI LEE] @ ZHHIHIEI O 2 A 30 mg/H=(kg) £0

20| T2k 12 AS kg & 2ICH 40 mgZ7tA| ST 4= ALt 0] & F0] Al 1€ & FOF2 382 LF0
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